SN

I‘IiH

Cij}

g2 sSHEZZEY

P EREe(8LUE/ER)
|

o)
4
[pal
o

SH-EH. O (AN) - NRANY - B (X o) ) HDE2
S22 38,692,001 33,383,354 5,308,647
fas 147,000
= 734,492
Al 37,810,509
CEREA(+BLUE/Z2) 19,867,600 18,290,094 1,577,506
= 147,000
& 534,710
Al 19,185,890
sHEE =34l 910,000 1,070,000 A 160,000
ST RAN-BEHEZ2(HZ1045) &HE 100,000 200,000 A100,000
401 AI&BIZ =208 100,000 200,000 A100,000
01 Al&HI 100,000 199,000 A 99,000
= 0l & 100,000 199,000 299,000
O &5F SAMUECZ2(HZ1045H) &F
= Ab(L=1.0km 100,000, 0003 *14] 100,000
N 248 sHEZZ SE3AM 200,000 100,000 100,000
401 AI&BIZ =208l 200,000 100,000 100,000
01 Al&HI 200,000 99,500 100,500
= 0l & 200,000 99,500 100,500
O NH 28 SHEEZZ2 = A3 AHL=460m)
200,000,000 14 200,000
T 2E-ES25F2 WA HAX3A 100,000 0 100,000
401 Al&HI 220 100,000 0 100,000
01 Al&HI 100,000 0 100,000
= 0l & 100,000 0 100,000
O = 2EEF2 sHEEZ &ELE S
AF(L=100m) 100,000, 0003 *14] 100,000
28 21958 S 2EH 60,000 0 60,000
401 Al&HIZ 28I 60,000 0 60,000
01 Al&HI 60,000 0 60,000
= Ol &t 60,000 0 60,000
O HHZE195H SHETZZ EESA(L=
420m) 60,000, 0003 *14] 60,000
ot AS0E MAERE SEIA 150,000 320,000 A 170,000
401 Al&HIZ 20| 150,000 320,000 A 170,000
01 A&l 150,000 317,600 A 167,600
= 0l & 150,000 317,600 A 167,600
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A E21
Ha: 2 (+SUYDS/ER)
|

29 sHEEZZEH (=&
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
O 4oF A50t2 MNYET 2 EEH S AHL=450
m) 150,000, 000& * 14 150,000
g2 FAE-200E2(HE 1015) SHE DA 30,000 0 30,000
401 AEHIZROYI 30,000 0 30,000
01 Al&HI 30,000 0 30,000
= 0fl & 30,000 0 30,000
O g2 AZ-20E2(HZ1018) &3
AF(1.0km) 30,000,000 =14l 30,000
HE SH~FAZ2 sHEZZ(HZT3I063) EEHS A 100,000 0 100,000
401 AEHIZ=ROHI 100, 000 0 100,000
01 Al&HI 100,000 0 100,000
= Off &t 100, 000 0 100,000
O HE Sd~242 sHEZZ2(HEZ3062
) E &3 AH(L=530m) 100,000, 000 14 100,000
S2 202 VY2 (2E133) S I3A 70,000 0 70,000
401 AEHIZR0YI 70,000 0 70,000
01 Al&HI 70,000 0 70,000
= 0fl & 70,000 0 70,000
O 33 2008 VYE2(2E135) 4%
3 AF(L=150m) 70,000,000 =14l 70,000
NS A L EZ2 HEBA 100, 000 0 100,000
401 AEHIZ=ROHI 100, 000 0 100,000
01 Al&UI 100,000 0 100,000
= Off & 100, 000 0 100,000
O NS SH& MUEZ IHE S AHL=300m)
100,000, 000& 14 100,000
AAsXtus2el s 606,000 157,000 449,000
s 147,000
< 292,000
Al 167,000
MDD X2 2 L /AEEZ2 HEAY 86,000 72,000 14,000
s 43,000
Al 43,000
401 AEHIZ=RUHI 86,000 72,000 14,000
s 43,000
Al 43,000
01 Al&UI 86,000 72,000 14,000
s 43,000
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X XH -
S =

el AAsxtnsaelid (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 A&l Al 43,000
= Off & 86,000 72,000 14,000
= 43,000
Al 43,000
OunEAMD 22 A
86,000,000 *14] 86,000
ras 43,000
Al 43,000
el E529 2RI AMH 208,000 60,000 148,000
s 104,000
Al 104,000
401 A&BIZ =208 208,000 60,000 148,000
rax 104,000
Al 104,000
01 Al&HI 208,000 60,000 148,000
s 104,000
Al 104,000
= 0l & 208,000 60,000 148,000
fax 104,000
Al 104,000
ONHE0IESFERAIML AL
208,000,000 14l 208,000
= 104,000
Al 104,000
WS AN S AL 20,000 0 20,000
401 A&HIZ=0Hb 20,000 0 20,000
01 Al&UI 20,000 0 20,000
= 0l & 20,000 0 20,000
OZXcAtHel BWSHA HE BtEd H&E
29 20,000,000 *14] 20,000
HelolEs < CCTV HHIALL 292,000 0 292,000
& 292,000
401 AI&BIZ =208l 292,000 0 292,000
= 292,000
01 Al&UI 292,000 0 292,000
= 292,000
= 0ff & 292,000 0 292,000
& 292,000
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SN

Bu: CRa(2EUDE/CR)
e AAsxns2emA (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
Oeol2s+7Y CCTV AbBIAIY
292,000,000& * 14! 292,000
= 292,000
ZAE S X 2 16,644,201 12,687,522 3,956,679
== 26,710
Al 16,617,491
c 2 H| 5,282,872 4,335,020 947,852
101 ol 4| 39,055 35,220 3,835
04 JIZtHZ2ZXNSE > 39,055 35,220 3,835
= 0l & 39,055 35,220 3,835
OAIJINEE Hx=&g o2 33,668
EAR==1 66,800 x5 x100 33,400
—MHEE 33,400,000& *0.8% 268
QUEH XA 2182 5,387
EAR=1 66,800 *80H x 1L 5,344
—MHEE 5,344,000 %0 .8% 43
201 A E2AH| 169,279 172,259 A 2,980
01 Ar®2te2ltl 4,900 7,880 A 2,980
= 0l & 4,900 7,880 AN 2,980
Ozl 493 /A &8
100, 000& *7H x4 3] 2,800
OEZANEE HNHEH WE 2AE
700,000 *3H 13| 2,100
02 =324l 164,379 164,379 0
= 0l & 164,379 164,379 0
OAl &2 & HI KXl HI 1,540
—W=2Jl |X 22l 740
=2/ d| 40,0003 *40H *x23] 320
S Fl 1,400 *2.540 *40H*302] 420
-T2 B2 &I A2
400,000 =2CH 800
[@PNE=FaR=la:] 31,181
— 24| S22/l 7,400
22| d| 5,000, 000& «1CH 5,000
SFU 1,200 x104 *4 Al 250 2,400
—T28E58 82 KX 22| 21,381
=2/ d| 2,000, 000& *2LH 4,000
20U 1,200 174 =284 x3[H 17,381
— HM&J] SX&2lbl 400,000& *6CH 2,400
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X ZH
S =

el

c2
D ER2EA(BLDNE/ER)

CZANE R 2e

o)
{0
]
{0

M- =8 a9 (3) - HEAY - a2 o @(ijf;ﬁ% HRE2
O Xt = XA 800
—HIEZ (15 ,88) 120, 000& *2[H 23] 480
— 282X 80,000& *1CH*x23] 160
— = EI(EM) 80,000& =10 *23] 160
OstdNEEE= 620
—EHIOTE= ({58 ,88) 95,000& *2CH *23] 380
— A~ESI2 X 60,000& *1CH*x23] 120
— =& (ENMN) 60,000& *1CH *23] 120
OXtEEA=E 532
— QIO EZH(15E ,88) 146,000 =2CH 292
— A8 X 50,000 = 1CH 50
— =& (ENMN) 50,000 = 1CH 50
—E4(24H]) 140,000& = 1CH 140
O=x==23& U4 d=H|
1,282 *3L*6A| 2Fx76L 1,754
ONE0ES?YECCTV & LD ZHEX T =
222 29,0003 x224CH = 12& 77,952
OeolE2s7Y CCTV S A=l
1,250,000, 000& *4.0% 50,000
202 0| 2,400 3,000 A 600
01 2L 2,400 3,000 A 600
= 0l & 2,400 3,000 A 600
OHMSH A E Nscxs 60,000& x2H x235] 240
O=Hl242e &0 60,000& *3H x4 3] 720
OA2&gR+d S2EAYI 60,000& x2H x4 3] 480
Cdy2dE 3o FA EHOYI
60,000 *x2H *23| 240
OM&EAY E&H0YI 60,000 *2H *33| x23| 720
206 T2l 77,041 63,541 13,500
01 &4l 77,041 63,541 13,500
= Ol & 77,041 63,541 13,500
OEZ&dH M+ 63,541
—ZIH3EZ B2 8ot 7Y
25,000) *7381L 18,450
—HEHY L A2 B8 a2 15,000
20 30,000& x500m’ 15,000
—C2NEE d32E Y
10,000 x 1,440 14,400
—C2HEE 2HF=0HU P
140& *50, 0504 7,007
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S22

Ha: CRR(+BUDNS/E2)
ool SRAES AL (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
—EIYE 248 0122 7Y
77,0002 +92E 7,084
— 42 IYST TY(YS 53)
50,0008 *8% *4Z *13] 1,600
OS2AFALS UMY 2Y
450,000 *307H 13,500
305 BHASES 30,000 14,000 16,000
01 BHASS 30,000 14,000 16,000
= 0l & 30,000 14,000 16,000
OSZU ADaol e A%HHaa
1,000, 0002 3021 30,000
401 NEHL20Y 4,965,007 4,047,000 918,097
01 Al&H] 4,960,097 4,037,000 923,097
=0 4 4,960,097 4,037,000 923,007
OSE-MANAETZ =7 HYI2A
30,000,000 * 144 30,000
OANIIX BERX 22 L FHIAY
100,000, 0002 %3k 300,000
OAZ ACIAS U DIABY T2HHIMY
1,957,000, 000! * 141 1,957,000
OAME2 THEF  1,000,000,0008 *0.8Kn 800,000
ONYE S T28 ST AL
10,000, 00021 721 70,000
OLSTHT2 INSI|AY
25,000,000 *1021 250,000
OS8sS SRS 23 MEXY
500,000 +100CH 50,000
ORM&RY xR 500, 000! *140CH 70,000
O£2 ZEE S3=27AY
4,000,000 %2574 2 100,000
O=Z2¥ ZHI L HEXY
465,485 * 100kn+23] 93,097
OC2DSAHAL FH(RSAFHAL &
o) 20,000,000 *421 80,000
OHEE NHNE €2 HEFTA
200,000, 00021 * 14! 200,000
OoEs el Hel HHlAY
250,000,000 *1.2kn 300,000
OME HHHOIS-AUEEAF T2 FHIAY
100,000, 0002 *1..5kn 150,000
OARAE L2 SMUE-HLR AL
S2 FUIZM 750,000 *200m 150,000
OSIB0IS D122 I B A
1,000,000 *30m 30,000
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A E21
M S22 (L WNE/C2)
thel: SEANER A2 (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
OME HEOtS o2 tE SAF AAIE A
30,000,000& =14 30,000
OFAEHA JAEZ ZHISA
100,000, 000& *0. 5km 50,000
OSE0IEY HEd SHFIA
200,000,000& =14 200,000
OR4&0ts M2 HHFSAH 625,000 «80m 50,000
03 A& =204l 5,000 10,000 25,000
= Off & 5,000 10,000 A5,000
OEZFHIALS AR08l 5,000,000 *14] 5,000
g ¥ swael 930, 000 207,231 722,769
201 et 27,231 27,231 0
02 =524l 27,231 27,231 0
= Off & 27,231 27,231 0
O=&HMIEE s & &I A2l 23,311
— Su s2J RA2e 22 e ==
= 203,000 x7CH*128 17,052
- &5ZJ 28 & =l 1,251,800& »5CH 6,259
OzdMIEEsW & &£&J &I, 84
= 30,0003 «7CH*12& 2,520
O=dMIEESW & &) A==
200,000 x7JH 2~ 13| 1,400
401 A&BIZ=2U8 902,769 180,000 722,769
01 Al&HI 899,000 180,000 719,000
= 0fl & 899,000 180,000 719,000
OEZoFAEE B4 ¥ HE(YXE  H
e =2cs8) 2,500, 000& =407 2~ 100, 000
Oaots1 EH L WSAE EX3A
200,000,000& =14 200,000
Og9dzHel =H nEsd XS A
20,000, 000& *5H 2 100, 000
OEs Olg~&= 22 A2 JtEd
2 AXI3A 330, 000& *200m 66,000
OsnZel(#2LrE9H)
2,000,000& * 120 2 %23 48,000
odyor #E W IHItE S A
100,000, 000& * 14! 100,000
OAEE2 W Xz B HEAS
135,000, 000& 14 135,000
O=g SO0 =08 HIOHE S A
150,000, 000& * 14! 150,000
03 Al&=04Hl 3,769 0 3,769
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S =

S22

PR (s nsS/ER)

e T2AIE 8 X2 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
= 0l & 3,769 0 3,769
Owgr & 22 AIE20UH]
753,800,000& *0.5% 3,769
A2SEXN L 02X EX0HLY 505,112 502,330 2,782
201 B2 A Y| 312 530 N218
01 Ar®2telt] 312 530 N218
= 0ff A 312 530 N218
OZEL ANESMA(EZ2EX) 0/18s) ¥ =
g 312,000 14! 312
202  0dd| 1,800 1,800 0
01 =Z2UWAHI 1,800 1,800 0
= 0l & 1,800 1,800 0
OA25g248 WUl 60,000& 2H 1L x153] 1,800
401  AIEHIZ 20iH] 503,000 500,000 3,000
01 Al&HI| 500,000 500,000 0
= 0l & 500,000 500,000 0
OA8sEX € DI=22X 24
00,000,000 14! 500,000
03 A& S0HH] 3,000 0 3,000
= 0ff & 3,000 0 3,000
OALsEXN & 0IKNSEX B4
3,000,000& * 14! 3,000
BotIt2s sA&2 4,049,738 3,826,769 222,969
201 282 A H| 1,843,992 1,785,689 58,303
01 At 2t2ldl 18,500 20,200 A 1,700
= 0l & 18,500 20,200 A 1,700
O=3 32D HY < 1,700,000& 53] 8,500
O=3dg L @A HEE It2)] 7Y
10,000& *1,0000| 10,000
02 3294l 1,825,492 1,765,489 60,003
= 0ff & 1,825,492 1,765,489 60,003
Odtes SLHMUHAIAE SaE
5,000& x400S x12& 24,000
OANULR JI2s dIIANES
53,323,000& = 12& 639,876
OAMULR Bots MIIANES
36,018,000& ~12& 432,216
OX U X Z A A &t oH
7,534,000& «12& 90,408
[OPNE=FaR=tas] 6,348
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X ZH
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el

c2
D ER2EA(BLDNE/ER)

CZANE R 2e

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

2A-F3H-H(FH) - RN - BES (Z= o) (713 o) HusZ
- A2 SN2 6,348
a2/t 1,200,000 *1CH 1,200
SE 1,28721 %100 *2Al %200 5,148
OXISUUR AlAIE s XA AE
o 52,234,000 *122 626,808
O=8EHY JIMHY TIIABR
5,836,000 *14! 5,836
202 0H 2,640 2,880 A 240
01 2ot 2,640 2,880 A 240
=0 & 2,640 2,880 A 240
OZU=2H QL ZASH oft
60,0002 %23 %22 x5 1,200
OFSA LEDIRLOUS DHAY =2H|&E
ol bl 60,0002 %22 %22 %33 720
OXISUURX MeFAY DKot
60,0002 %22 *22 %33 720
203 L=y 1,000 1,000 0
03 AlMZ=ZARETY 1,000 1,000 0
=0 & 1,000 1,000 0
ONRE SU2IM GE LEA
1,000, 000! *14! 1,000
206 TaHl 354,106 423,200 A 69,094
01 M2l 354,106 423,200 £ 69,094
20 & 354,106 423,200 69,094
WEE] 354,106
~ RS NYP4E WP 354,106
2OHS HYI|  150,0008 16,0685 «2% 48,204
BoIS Bm 15,0008 *3, 0005 *20% 9,000
LEDSJIT 22 600,0008 *9,2105 *4% 221,040
BOIS SJI7 ¢ 2 Sx
S| 2(27,990,0002 * 141 )+S = (16,512,00 44,502
0
*14l)
- E{2 S (LED 150W)
350,0002! *1,2805 +7% 31,360
401 AlEBILSHY 1,848,000 1,614,000 234,000
01 Al&H] 1,840,880 1,606,440 234,440
=0 o 1,840,880 1,606,440 234,440
ONRE |SNE4 SAB2l(1.22%)
446,760,0002 * 14! 446,760
ORAS RNEL FASB2I(1.22)
397,120,000 * 14! 397,120
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A E21
M CR(+SLNE/ER)
ol SRALSI L CERE
- - Ofl &K & 0 A =
SA - B (SH) - HRAY - BAES = T HRE2
OSes 2osS &x  305,000,0008 *14! 305,000
OFAXP NH2ES &R 0 =AM
250,000, 0002 * 14! 250,000
OJN2S SHELBA 30,000,0008 +14] 30,000
OFelS SSMHUIAME-EXZIAZ O}
2S HXTA 52,000, 000! *14! 52,000
O=HBIET FYR =5 I2S DHBA
100,000, 0008 *14} 100,000
OZOIRNEl RS &I BA
80,000,000 *14] 80,000
OZOIHRY 2M4 2)2E DHZA
120,000, 0008 *14] 120,000
ONES HgFH 3 }2S DHSAM
40,000,000 *144 40,000
OXH JIRSFE TAA 20,000,008 *14! 20,000
03 Al& = CHb| 7,120 7,560 A 440
=004 7,120 7,560 A440
OJ}2S RS+ ARl (1.28Y)
450,000, 0002 0. 72% 3,240
OIS X4 el (1.2289)
400,000,000 *0.72% 2,880
Ogels Pos 41 1,000,000 *14} 1,000
NsREl gzage |xel 805,066 819,034 ~13,968
201 Yur2YHl 83,598 83,598 0
01 AtR2reltl 2,000 2,000 0
=04 2,000 2,000 0
ORI/ XGHUHE SHeR AHEE Y
2,000, 0002 *13] 2,000
02 ISl 81,598 81,598 0
=0 A 81,59 81,598 0
ONGHIE FHIIQHHR2INY 42
70,0002 774 4 * 122 14,280
OZaEYE @I +48
700,000%! %104 & 122 8,400
OJMEE HIIQHBRIMY 448
50,0002 * 17 4 * 122 1,800
OXNBIE HIIRS  500,0008 +77H 4 *122 42,000
ONBIHE SLLAMO ANAY SM2
3,850,000 * 13l 3,850
OXGHRE JIH, HIANE RXB4 11,268
—2EI)| 682, 00021 «4JH 2 2,728
— ZYAH 50,0008 #1605 *25% 2,000
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A E21
Ha: 2 (+SUDS/ER)

thel: SEANER A2 (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
— =38 2,000,000& *2CH x5 2 x20% 4,000
— sEd 600,000 *4J4 2 2,400
—EYE E= 140,000 * 10 2 140
307 giztold 450,468 301,436 149,032
05 QZtRAES 450,468 301,436 149,032
= Off & 450,468 301,436 149,032
O3dd 2 & oM, 34, €8 A<
= Zdl(&el) 22H2AE 450,468,000 * 14 450,468
401 AEHIZROYI 271,000 434,000 A 163,000
01 Al&Hl 271,000 434,000 A 163,000
= 0fl &F 271,000 434,000 A 163,000
OXstAHE EIBE &4 4,500,000 x1004 & 45,000
OXISXE JIHAIE RXES
4,500,000 *100H & 45,000
O=3tHE HES wHSA
150,000, 000& * 14 150,000
OF3 ETHdes M4 & &) B+ U
31,000,000& =14 31,000
T2 2Y ANE23H 2,800 3,638 A 838
201 LBt 1,000 1,838 A 838
01 At 2eltl 1,000 1,838 A 838
= Off & 1,000 1,838 A 838
o4& o3 228 X 500
-8z 500& *1,00001 x 13 500
OLAaFXE NEHE EE2E M 500
—HDE Y M&EtE 1,000 50001 13l 500
206 M= 4l 1,800 1,800 0
01 M=zl 1,800 1,800 0
= Off &t 1,800 1,800 0
OIS <0 e MY (B
2 78) 225,000 x8& +13] 1,800
ANEY HAEAE B8 A2 1,505,000 1,005,000 500,000
401 AEHIZ=R0UI 1,505,000 1,005,000 500,000
01 Al&HI 1,500,000 999,975 500,025
= Off & 1,500,000 999,975 500,025
OAIEY HatAl 2 2 KA 2elA
o 500,000,000 =14l 1,500,000
03 Al&=04Hl 5,000 5,025 A25
= Ofl & 5,000 5,025 AN 25

- 613 -




SN

S22

I CR2RA (=L DNE/E2)
el CSRAIAS K e S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES 2 mon) (I o) Hns2
OANEY HAANE B482 L ST 22lA
= IUNES ]| ,000,0002! * 14! 5,000
ZsAd Jl2 - 20tS LED DA ALY 600,000 400,000 200,000
401 Al&HI 22O 600,000 400,000 200,000
01 Al&H] 600,000 400,000 200,000
=2 0f| At 600,000 400,000 200,000
OFEA 2 . EOE LED DA ALY 600,000
— Jiz . Bos 600,000,000 * 1Al 600,000
B E &Y 1,340,000 0 1,340,000
401 Al&HI 220 1,340,000 0 1,340,000
01 Al&dl 1,334,500 0 1,334,500
= 0f| At 1,334,500 0 1,334,500
OlNE22L(FTB5X~2EHA) B HU2
AH(0.55km) 99,500, 000 14l 99,500
OHE3Z (HEA2 AHE) EC FH I ZA
(0.15km) 60,000, 000! 14l 60,000
OFEY2(L2N~TLER) 25 FHH 2 AH(
0.27km) 100,000, 0002 * 1Al 100,000
OB AZEI2~ANAHAEBREL B H
H1 (0. 1km) 80,000, 000 14l 80,000
OAlIRIZ JH& ZAHUD)(0.35km)
995,000, 00084 * 14l 995,000
03 Al&S0H| 5,500 0 5,500
=0f| At 5,500 0 5,500
OXNE22L(FTB5X-~-2E22A) B HUH2
Ak 100,000, 0002 *0. 5% 500
OABIZ JH& ZAHUD)
1,000, 000,000 *0. 5% 5,000
SEEH (ZQEN OlAAIY) 610,000 0 610,000
401 Al&HI 220 610,000 0 610,000
01 Al&d] 610,000 0 610,000
=2 0f| At 610,000 0 610,000
OX)N=2 Sa& NS~ ZaHY 2
ST A 200, 0002 *300m 60,000
OR)et=22#~-HLge BE22 DH2A
400,0002 *125m 50,000
OCHEGIH 2DAS A 8222 =4
500, 000 *200m 100,000
OSH2(QIMLIgt~atatZ2 2H) B EZFH|
200,000€ *1,250m 250,000
O«Asd a2 9& X 750,000 *200m 150,000




SN

X ZH
S =

S22

PR (s nsS/ER)

oe: T2 AIE R (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
25729 &4 ¥ HEAS 550,000 0 550,000
401 A&BIZ =208 550,000 0 550,000
01 Al&HI 550,000 0 550,000
= 0ff &F 550,000 0 550,000
g0l Es+9 FHl £ WA
50,000, 0003 «5IH 2~ 250,000
OLo853% =4 ¢ I AR (UD)
150,000, 000& *2JH 2~ 300,000
SHYE 2%, 22X A3 USHEX EX(DAY) 200,000 0 200,000
401 Al&HIZ 20| 200,000 0 200,000
01 Al&HI 200,000 0 200,000
= 0l & 200,000 0 200,000
O=3stHE 2%, 2& &3 XNHEX X
A A AHI 200,000,000 14! 200,000
g Ml FHEH &2 2 F=XUE =4 130,000 0 130,000
401 AI&BIZ =208l 130,000 0 130,000
01 Al&HI 130,000 0 130,000
= Ol & 130,000 0 130,000
OBE HMJle ZHZE £2 U FHUE
g 130,000, 0003 * 14 130,000
STt orME /st E2H 2 EHOI ALY 133,613 0 133,613
& 26,710
Al 106,903
401 Al&HI 208 133,613 0 133,613
= 26,710
Al 106,903
01 AI&EHI 133,613 0 133,613
= 26,710
Al 106,903
= Ol &F 133,613 0 133,613
= 26,710
Al 106,903
O&==2Y 2td ZHiJI 133,613,000 *14] 133,613
= 26,710
Al 106,903
A2 FU=AAY 721,000 3,430,000 A 2,709,000
= 216,000
Al 505,000
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A E21
HM: T2 (5L RE/E2)
Cel: ARE FUSIAAY (o2&
x s . 0 & o H = ol -
SA B S (SH) - MEMY - BES = i BlRE2
L2782 FLU=SF THEX AY 216,000 390,000 A 174,000
< 216,000
401 AEHIZROYI 216,000 390,000 A 174,000
= 216,000
01 Al&UI 216,000 390,000 A 174,000
< 216,000
= Off & 216,000 390,000 A 174,000
= 216,000
OHEH YIS & &2 = =M
25,000,000 » 14! 25,000
= 25,000
OiEd Hetits & T2 FH|
30,000,000 =14 30,000
= 30,000
OEd g0t otz Fbl
25,000,000& =14 25,000
< 25,000
Oz XY =¥ JH(RYE 2= H
gl) 50,000,000 » 14! 50,000
& 50,000
OFdH 22l 5828 X 2Z~F &2t Ot
2 X 30,000,000& =14 30,000
& 30,000
OHMHAZ105 ¢SS RNE~-HSUF2X
Ol EE2% WX 26,000,000& » 14! 26,000
= 26,000
O+ £&el1820 DAMDISEZ =E,
A MEI373H X AotE ME FbI
30,000,000& =14 30,000
= 30,000
HEs A2 WXZ2 W& 3A 300,000 0 300,000
401 A&HIZ=R0b 300,000 0 300,000
01 Al&UI 300,000 0 300, 000
= Off & 300,000 0 300,000
OMEsS &AM X HEBAH(E A
) (UD) 300,000,000 =14l 300,000
SHOS 222 JEISAH(FAUERN) 50,000 0 50,000
401 AEHIZ=ROUI 50,000 0 50,000
01 Al&HI 50,000 0 50,000
= 0fl &F 50,000 0 50,000
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SN
X ZH -
L=

el

o)
{0
]
{0

% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
O SHOE 2422 ZHHl 2 AHL=30m)
50,000, 000! 14l 50,000
Het 22012 JU2 SEAY(F0EN) 75,000 0 75,000
401 Al&HI 22O 75,000 0 75,000
01 Al&H] 75,000 0 75,000
=2 0f| At 75,000 0 75,000
O g2 2202 MY 2Z ALY (L=80m)
75,000, 000 14l 75,000
Y =20IS DYEE ZA(FUEN) 80,000 0 80,000
401 Al&HI LR 80,000 0 80,000
01 Al&dl 80,000 0 80,000
=20l A 80,000 0 80,000
O =% =202 ng =& ZAH(L=40m)
80,000, 000! 14l 80,000
EMC2XN 986,399 945,572 40,827
NEHC2MA 492,940 462,940 30,000
202 04l 2,940 2,940 0
01 2ol 2,940 2,940 0
= 0f| At 2,940 2,940 0
OZ2MEAY =TEHO 60,0008 *3H 73] 1,260
OXEHFHMAOILE, SI2AZA 0]
60,0002 x2%H 22 x73] 1,680
307 G20l ™ 180,000 180,000 0
06 282 180,000 180,000 0
=0l A 180,000 180,000 0
O=&Ag ¢ ZZXNAEIN BE2
15,000, 0002 122 180,000
401 Al&HI L2 310,000 280,000 30,000
01 Al&dl 310,000 280,000 30,000
=0 & 310,000 280,000 30,000
OX&EN Tt SAZA(MENHE2RX
22| 2 MEoI2 2l 1A1B0,000,0008 * 14l 160,000
OCI At HRI~&=&02 IHEHEZ A2
AH(ZHO 2 ) (L=1.5km) 150,000, 0002 * 1Al 150,000
SAEAIE FaELe 8,820 8,800 20
201 LBt AH| 8,820 8,800 20
02 22294 8,820 8,800 20
=0l At 8,820 8,800 20
OdBANHE SR04 X2 6,300
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SM: E2
BM cepel(+4UDE/CR)
Ee sME2XY (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
— = XEHA 1,300, 000& *33] 3,900
— 2E 2 1,200, 000& =2LH 2,400
OdE&Ne F201Ex NI, , 80
ANES 210,000& x12& 2,520
AMUROISATE N 25229 455,255 440,380 14,875
201 AU B2 A Y| 181,455 181,380 75
01 Ar®2telt] 1,000 1,800 A 800
= Ol & 1,000 1,800 A 800
o225 MdAH =22 HHE
1,000& *1,0000H 1,000
02 =324l 180,455 179,580 875
= 0l & 180,455 179,580 875
OXNEHZHAIAH B2 ,9/2A43 KX
2 24l 70,315,000 =14 70,315
OHDIE &EIIANEZE 20,0003 x4201 A~ x12& 10,080
OHDIE sSde3 25,000 x4201 A~ x12& 12,600
OXEs Xl 224l 17,560
— =2l | 1,500, 000& =2CH 3,000
— S 1,200 x10L*4 Al 2tx 150 =2 CH 14,400
— N EAZE 50,000& =2LH 100
— XS XAl 30,000& =2CH 60
OXN&EN 2EFLY ¥ £2Hs
14,0003 x25024 x12& 42,000
OXREA ARE F¢ 27,900
-0 59, 000& * 1504 8,850
— Al o1 HH 20,000& * 15004 3,000
— B2 L 33,000& * 15001 4,950
—HEHH 57,000& * 1504 8,550
— A&EH E=2EX 17,0003 = 1504 2,550
206 M &4l 4,800 0 4,800
01 Ml 4,800 0 4,800
=0l 4 4,800 0 4,800
o5 oz 32 16,0003 *300H4 4,800
307 QI12tol A 9,000 9,000 0
02 QI2tFAANHEX 9,000 9,000 0
= Ol & 9,000 9,000 0
O=&Al NHEAH stOtY 9,000,000& * 14! 9,000
401 AEBIL LY 150,000 250,000 A 100,000
01 Al&H| 150,000 248,200 A 98,200

- 618 -




24 23
Hu: TR (2ZUDE/Z2)
CHel: SMC2XA EERCE
x s . Of &t o8 & & 0 A o -
EH-Z3H .42 (3H) - HEMNY - BES (Z= o) (713 o) Hnsz
= 0ff o 150,000 248,200 /98,200
Of%el LOHIE 5 (3HA)
150,000, 00021 * 14! 150,000
405 XHAHE S 110,000 0 110,000
01 TMHUSEHSH 110,000 0 110,000
= 04 o 110,000 0 110,000
2%2 MEH ME 2 600,000 «100CH 60,000
OR-2MEH 2% 2z 2
25,000, 0002 *2CH 50,000
NEHA2BHE 2 29,384 33,452 4,068
201 L@ Hy| 29,384 33,452 4,068
01 AR 22/l 24,752 28,832 4,080
= 0ff & 24,752 28,832 4,080
O IES=3t] 22,952
~DRHEH P 225,0002 *23] 450
—JI2AREE 158,0002 *53 790
~NENDKDIM, D7 Y
30,0002 *6% *23| 3,600
—~TEHOIE IS YL B2 =X
1,000,0002 x23 2,000
—BOPIE NENDY 29
320,000 *30! +72 6,720
~ TENDA ZALEY  520,000%2% 72 7,280
—2sp oeAYR S 9E =2
0§ Al b 8,0002 * 1 x24A! x 112 2,112
ONEHSEIME ROIAHIAIAE
150,000 2! * 122 1,800
02 2z2%| 4,632 4,620 12
= 0ff ot 4,632 4,620 12
OZZ22 2 HA 3,432
—®I1e2 150,0002 * 122 1,800
—s422 94,000 * 128 1,128
N 42,0009 * 128 504
O 22 | 2/l 1,200,000 »144 1,200
CAXNBEHEHSANEAY (2SLDE/ER) 18,049,380 14,469,680 3,579,700
TAX TAHEER 18,049,380 14,469,680 3,579,700
EREQA ~ X022 TRWLBAHREH) 1,500,000 2,000,000 500,000
401 AlZHIZL S 1,500,000 2,000,000 500,000
01 Al&H| 1,500,000 2,000,000 500,000
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A E21
Y CAXNEHFHSEINEMNGS (=L UE/ER)
Chel: SAX SAHEEZZ A (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES o o BlRE2
= Ofl &F 1,500,000 2,000,000 A 500,000
O BEEFRA~ZAOIS2 S2MHEBAHL=
662m) 1,500,000, 000& 14 1,500,000
S ~ SxSsWY 2 500,000 0 500,000
401 AEHIZR0UI 500,000 0 500,000
01 Al&Hl 500,000 0 500,000
= 0fl & 500,000 0 500,000
O =S SU~=xW2t S2IHE I AL
=450m) 500,000,000 =14l 500,000
S SAHEEZ e Ler2d 4,680 4,680 0
201 et 1,200 1,200 0
01 AtR2Zeldl 1,200 1,200 0
= Off & 1,200 1,200 0
OJIZMEEFHI 120,000& * 103 1,200
202 044l 3,480 3,480 0
01 LAY 3,480 3,480 0
= Off & 3,480 3,480 0
OSLREH HRE 2A=F0HI
60,000 *3H »63] 1,080
OsocAte 2o & 249 22[0it]
60,0002 x2H 22 103 2,400
MENS(RUAZ~ETAHES2H T 2ME S M 128,000 0 128,000
401 AEHIZ=ROHI 128,000 0 128,000
01 Al&HI 128,000 0 128,000
= Off & 128,000 0 128,000
O MNENS(RHAR-EBEALESHE2ME
= AH(L=180m) 128,000,000 14 128,000
THIZ ZAHEEZ SEAY 100,000 300,000 A200,000
401 AEHIZ=R0YI 100,000 300,000 A200,000
01 Al&Hl 99,500 297,840 A 198,340
= 0l & 99,500 297,840 A 198,340
OZHlZ SANHEZZ SHH AL (0.2km)
99,500,000 » 14l 99,500
03 AI&S04dl 500 2,160 A 1,660
= Ofl &F 500 2,160 21,660
OXxHZ ZAHEEZ SHHALY
100,000, 000& *0. 5% 500
Zdls AAazd~ MEFY2 204 301,500 300,000 1,500
401 A&HIZ=R08 301,500 300,000 1,500
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SN

X ZH
S =

el

S22
D EAXIELEHEE A AR
CHX SAAHEEZ HE

== 0l

n
0

bl

kJ
Om
m
HU

o)
{0
]
{0

x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES e i BlRE2
01 Al&HI 300,000 300,000
= Off & 300, 000 300,000 0
Ozxds NS E~-MEFL2 S2IHE I3 AH(
L=370m) 300,000,000 =14 300,000
03 AlI&=S04dl 1,500 0 1,500
= 0fl &F 1,500 0 1,500
OXds NSE~-MEFL2 T2IHE A
1,500, 000& * 14 1,500
X 2=X2-Us0S2 =E2HE 3,001,000 3,000,000 1,000
401 AEHIZRUH 3,001,000 3,000,000 1,000
01 Al&HI 3,000,000 3,000,000 0
= Off & 3,000,000 3,000,000 0
Ozxd 2=2~USOHE22 T2IHE 3 AH(L=2.
46km) 3,000,000, 000& 14! 3,000,000
03 A& =S04dl 1,000 0 1,000
= 0fl &F 1,000 0 1,000
OZXd 23~-UHs0ts2t S2HLE IS A
1,000, 000& 14 1,000
Tl F=34HN~3s22Z 2t SAHEEZ HE 200,000 0 200,000
401 AEHIZ=RUHI 200,000 0 200,000
01 Al&Hl 200,000 0 200,000
= Ofl & 200,000 0 200,000
O ZdF=34X~=st222 TAHEE
i & 2 AF(L=140m) 200,000,000& =14l 200,000
(RINSMEL~ANERX &2 WHX XA 300,000 800,000 A500,000
401 AEHIZ=ROYI 300,000 800,000 A500,000
01 Al&Hl 297,000 794,960 A 497,960
= 0l & 297,000 794,960 A 497,960
O22+sZ =& MY (DB XI3MA)
297,000,000 =14 297,000
03 AI&204dl 3,000 5,040 A 2,040
= Ofl & 3,000 5,040 A 2,040
O22xsZ =& At AIZ=R0H
300,000,000& *1.0% 3,000
N=2SDRNOIESZAHEEZTZHE 201,000 300,000 299,000
401 AEHIZROHI 201,000 300,000 299,000
01 Al&Hl 200,000 300,000 100,000
= 0l & 200,000 300,000 A100,000
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2N £ 27
Ha: CAXHZZHSGAMNLAAYG (2L DE/Z2)
el TAX ZAIHEEZ2 s S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
Q=2 DX0IE SAHECSZ HA2AH(
L=250m) 200,000, 00084 * 14l 200,000
03 A& 1,000 0 1,000
=0l At 1,000 0 1,000
Q)= DX0IE TAHECZ HaE2A
1,000,000 x 14l 1,000
HOUSOILOIIIEY T AHE S Z2MHA 100,500 1,430,000 A 1,329,500
401 Al HI Y20 100,500 1,430,000 A 1,329,500
01 Al&dl 100,000 1,430,000 A 1,330,000
=20l A 100,000 1,430,000 A 1,330,000
O Y= OIYOIME @ T2 A 2 AH(L=(
L=250m) 100,000, 000! * 1Al 100,000
03 A& =0 500 0 500
=0l At 500 0 500
O 92YsS OILO0IME & S2MHEZ A
500,000 * 14! 500
HUSHOIIIE~SARPAATZ2IHA 30,000 190,000 A 160,000
401 Al&HI LR 30,000 190,000 A 160,000
01 Al&dl 30,000 189,050 A 159,050
20| A 30,000 189,050 A 159,050
OUYSHUNOIIE~SARAZ S2HEZ A
30,000, 000! 14! 30,000
SIS )EAHE = 2HA 50,000 400,000 A350,000
401 Al&HI 220 50,000 400,000 A350,000
01 Al&d] 50,000 400,000 A350,000
= 0fl At 50,000 400,000 A350,000
OJI= AMIIDIE(5E) TAHEE2 HeEB
AH(L=160m) 50,000, 000 14l 50,000
AMNSHEHAZCAHECZHE 140,000 430,000 A290,000
401 Al&HI L2 140,000 430,000 A 290,000
01 Al&dl 140,000 430,000 A 290,000
=0l A 140,000 430,000 290,000
O/ AE SH A TAHEC2 HEZA
(L=100m) 140,000,000 x 14! 140,000
OlDtE~E2X 22t S 2MA 300,000 0 300,000
401 Al HI 220 300,000 0 300,000
01 Al&dl 300,000 0 300,000
=0l At 300,000 0 300,000
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A E21
A CANHARABEWLAN (22UDNE/C2)
Chel AT CAHHEER A (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES = T HRE2
OOIOE~H 82X 22+ & & 8 & 3 A (L=400m
) 00,000, 00021 * 14! 300,000
N EE AiFe MYz =F 100,000 0 100,000
401 ANZHIL 2T 100,000 0 100,000
01 Al&HI 100,000 0 100,000
=0 & 100,000 0 100,000
OMY HE3NT AUy M2 2TF
2 AH(L=477m) 100,000,000 *14} 100,000
CAUBHES AYS2 =T 189,000 300,000 A111,000
401 ANZHIL LY 189,000 300,000 A111,000
01 Al&HI 189,000 298,500 109,500
= 0 4t 189,000 298,500 £109,500
OCUIHIER MY ST AH(L=477n)
189,000, 0002 14! 189,000
EOI0IHY CAHEZZ AMEILS XA 2,000,000 0 2,000,000
401 NEHLSUY 2,000,000 0 2,000,000
01 Al&HI 2,000,000 0 2,000,000
=0 & 2,000,000 0 2,000,000
OFIIDIEY CAHIEZ AN}
29 (& A& H 10074 2,000,000,0008 14! 2,000,000
oiEtoB TR MENAL 3,000,000 0 3,000,000
401 ANZHIL 2T 3,000,000 0 3,000,000
01 Al&HI 3,000,000 0 3,000,000
= 0l 4t 3,000,000 0 3,000,000
OVSSL(ABEE) PEMLAL(L=1,20
on) 3,000,000, 00021 *14! 3,000,000
S TANHZZ HEBA 200,000 200,000 0
401 ANSHIL2THY 200,000 200,000 0
01 Al&HI 200,000 200,000 0
=0 & 200,000 200,000 0
OUYs TANTR HE B AH(L=62)
200,000,000 *14! 200,000
SOlS RUH FUC2 HATA 128,000 200,000 AT2,000
401 ANZHIL ST 128,000 200,000 A72,000
01 Al&tHI 128,000 200,000 AT72,000
= 0l 4t 128,000 200,000 A72,000
OS9S B2UA FHCR JHE B AHL=48
m) 128,000, 0002 *14! 128,000
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A E21
Y CAXNEHFHSEINEMNGS (=L UE/ER)
Chel: SAX SAHEEZZ A (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES =t i BlRE2
SNHEFAZIHEH~AAHEAE 2 SAAHEEZ 4,000,000 200,000 3,800,000
HE S A
401 AEHIZ=ROHI 4,000,000 200,000 3,800,000
01 Al&Hl 4,000,000 200,000 3,800,000
= Off & 4,000,000 200,000 3,800,000
O=ZNEJAEZTHEH~AIMELMEHZ T Al
HEZZ HE 3 AH(L=810m)
4,000,000,000& » 14l 4,000,000
MO dEEISF3I1XU0IIME FHE=Z HESA 145,000 0 145,000
401 AEHIZ=ROHI 145,000 0 145,000
01 Al&Hl 145,000 0 145,000
= Ofl & 145,000 0 145,000
ONMY HSEHS=SIXO0IIE =HEZ Y
A Z AH(L=35m) 145,000, 0003 14 145,000
Zd=s AMZOHIHE & TAHEEZZ HE S At 100,000 30,000 70,000
401 A&HIZ=R0HbI 100,000 30,000 70,000
01 Al&Hl 100,000 30,000 70,000
= Off & 100,000 30,000 70,000
OZXels MNZOIIEY TAHEEZZ WA
= AH(L=140m) 100,000, 000& * 14! 100,000
T =33XNOtLHE~=3t22 2t S 2IHE S At 600,000 400,000 200,000
401 AEHIZ=ROHI 600,000 400,000 200,000
01 Al&Hl 600,000 400,000 200,000
= 0fl &F 600,000 400,000 200,000
OZXds F33XU0tE~Sst22d 2t T2 M
& 3 At 600,000,000 =14 600, 000
HEH SF0IS HAZ2EZ HESAM 100,700 0 100,700
401 A&BIZ=R08I 100,700 0 100,700
01 Al&HI 100,000 0 100,000
= Off & 100,000 0 100,000
OHE S5F0S HEEZ HESA
100,000, 0002 * 14! 100, 000
03 A& =S04dl 700 0 700
= 0fl & 700 0 700
OlE SF0tS HZ2E2 MHESA
700,000& * 14 700
2d SUHOIIE & TZ2IHEZA 200,000 0 200,000
401 AEHIZ=RUHI 200,000 0 200,000
01 Al&HI 200,000 0 200,000




A S22
A CANHARABEWLAN (22UDNE/C2)
Chel AT CAHHEER A (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES = T HRE2
= Ofl &F 200,000 0 200,000
O=& HUOITMEY T2 WA AH(L=280m
) 200,000,000& =14l 200,000
oSSt ol2 TAHEEZ ST I A 300,000 0 300,000
401 AMEHIZL R0 300,000 0 300,000
01 Al&Hl 300,000 0 300,000
= 0l & 300,000 0 300,000
OgoAZst o2 CAHLCR HFHIBA(L
=100m) 300,000,000& =14 300,000
HAEES FTZSOMES SAHEZZ HESA 130,000 0 130,000
401 AEHIZ=ROH 130,000 0 130,000
01 Al&HI 130,000 0 130,000
= 0fl & 130,000 0 130,000
OMEE =BOLES SAHATZ Ha
= Ab(L=55m) 130,000,000& * 14! 130,000
HE2HZHI (Z2 ) (IIEH/IIE 775,021 623,580 151,441
= 199,782
Al 575,239
el 2l 681,885 535,592 146,293
= 199,782
Al 482,103
oI 2| 681,885 535,592 146,293
= 199,782
Al 482,103
101 elA4| 681,885 535,592 146,293
= 199,782
Al 482,103
01 2=+ 91,255 85,192 6,063
= Ofl &F 91,255 85,192 6,063
OAN2tel 224g
10,299 x22H »30A| 2Fx12& 81,569
OfY2L24+L(SL2ATTA)
82,786 x1H 117 9,686
02 JIEt&E = 14,633 14,351 282
= 0l & 14,633 14,351 282
OANZte 2ZR=Y 8,812&+2H «30AI2t+122 6,345
OFL2L+Y(HEANSSHHE)
70,8363 x1F 117 8,288
03 RIAHAZZXNE=S 575,997 436,049 139,948
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SM: E2
HH: HNS2AHH(Z20)(IIEHDIIE
Erol: ple 2oyl CER-E
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
03 RIAHAZZXHE = & 199,782
Al 376,215
= 0ff &F 575,997 436,049 139,948
== 199,782
Al 376,215
OEzEx3 S& 243 387,305
—-J23 1,450,900& 129 x12& 208,930
= 87,054
Al 121,876
— &= 1,450,900& *12Y 43| 69,644
= 29,018
Al 40,626
— Y ZE S0ty 870,540& x12H »23| 20,893
== 8,705
Al 12,188
— HHZAH| 100,000& *12H = 12& 14,400
== 6,000
Al 8,400
— &R 230,000& x12H x12& 33,120
== 13,800
Al 19,320
—X&8x4 279,981& x12H «12& 40,318
== 16,798
Al 23,520
oxsx¢ 133,094
—AZ2tA22+E
18,0503 *28L x 12H x 122 72,778
== 30,324
Al 42,454
— 52422 172,388& 12 x12& 24,824
== 8,083
Al 16,741
- s 40,000 128 x12& 5,760
— AESH B X4 E 430,000 *3H *43| 5,160
— SN HANEETSTE 351,000 » 14! 351
— X 100,920& 12 %20 24,221
o4s 2g& 27,858
— =03 204,059, 000& *4 . 5% 9,183
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SM: E2
M. HESHBHI(Z2 ) (JIEH/IIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
—H2AEE 204,059,000& *3.06% 6,245
- 11s88d 204,059,000& *1.5% 3,061
—MHEE 204,059,000 *8/10% 1,633
— A YEE 118,106,870& *6.55% 7,736
OEZ2E 43 I=H| 23,040
— &= 150,000& *12H 43| 7,200
—gst=s 300,000 x12&H «13] 3,600
— Ot g} 100,000 12 x23| 2,400
— &g 50,000& *12H 23| 1,200
— gs g 50,000& *12H 23| 1,200
— &3t 30,000& *12H 23| 720
— OFA X)) 50,000& *12H 43| 2,400
- & 1,200& * 12 *3003] 4,320
OHl&=2% 244l 7,000& x12Y¥ «50 4,200
OF A Z I 500,000 =14 500
| =&l 93, 136 87,988 5,148
Jl23Hl 93, 136 87,988 5,148
201 B2 A Y| 32,536 30, 148 2,388
01 Ar®2telt] 31,036 28,648 2,388
= 0ff & 31,036 28,648 2,388
Ogetx=2H| 19,420
—SAHD| Xz 330,000 1t =12& 3,960
—dioOIMEEH EYH S
350, 000& *6CH *23] 4,200
— SANSAPY 22,000 * 1008+ A %x23] 4,400
— TEH A223H| 200, 000& *6CH x23] 2,400
—JIE2AREEH 10,000 *232 x12& 2,760
—2A2% JIEIE=E2H| 141,600& = 12& 1,700
OJI2gRs-dHS s S20HAHI
8,000 *x11™¥ »11Al x128 11,616
02 =524l 1,500 1,500 0
= 0l & 1,500 1,500 0
02222 2 MA 564
— T2 BRI s IHA 160
=R =N 80, 000& *2CH *13] 160
— T2 BRI SIFAMEREEZ 120
LSS X 60,000& x2CH 13 120
— ANEHAZ 284
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= 0H R0
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